



14 February 2021 Dear SIM Freshmen 2021,

[admitted through the First Round of Direct Admission 2021 & the First Round of TCAS 2021, PORTFOLIO]

The following key activities that SIM freshmen need to take care of before starting the classes for the academic year 2021 are:

Date	Activity	Detail
Tuesday, 9 March 2021	Student I.D. released	 Check your student I.D. at https://smartedu.mahidol.ac.th/authen/login.aspx If your student I.D. is not shown, please urgently contact the SIM office, Faculty of Science, Mahidol University via e-mail: scsim@mahidol.ac.th or Phone 02-4419820 ext. 1199 or Line group https://line.me/R/ti/g/3SbS_md6bO
		OR contact Division of Academic Affairs, Mahidol University within Tuesday, 9 March 2021 by phone: 02-8494573
Tuesday, 9 – Monday, 15 March 2021	Enrollment confirmation	 Students have to confirm their intents to enrol at Mahidol University through https://smartedu.mahidol.ac.th
•	Final list of admitted students	 Check the final list of admitted students at https://smartedu.mahidol.ac.th When accessing the website, a pop-up message is displayed that "You are eligible to enrol at Mahidol University". Press a confirmation button, if you accept our offer. If you have any problems on checking the final list of admitted students, please urgently contact Division of Academic Affairs no later than on Monday, 15 March 2021. Phone 02-8494562, 02-8494563, 02-8494565 and 02-8494567
	Mahidol University's student profile completion	 Go to https://smartedu.mahidol.ac.th Fill up the Student Information The e-Mahidol University's Student Profile must be completed in its entire no later than Monday, 15 March 2021 Register the Student Health Care Service. Note: If your E-Mahidol University Student Profile is not filled up within the given period, your student status at Mahidol University is subject to cancellation. If you have any problems with completion of the Student Profile, please urgently contact Division of Academic Affairs, Mahidol University no later than Monday, 15 March 2021, Phone 02-8494561, 02-8494573, 02-8494594 If you have any problems with registration of the Student Health Care Service, please send a message to inbox on Mahidol Health Facebook Page. https://web.facebook.com/MahidolHealth/? rdc=1& rdr





Wadnasday 10	Tuition and fee payment	Aggree the E. Student Profile System at
Wednesday, 10 – Tuesday, 16 March	runion and ree payment	Access the E-Student Profile System at https://www.actedu.mahidel.ea.th
2021		https://smartedu.mahidol.ac.th
		 Go to menu "Course Registration" to retrieve an invoice, and check courses registered for the first semester of the academic year 2021
		Then, <u>click "Payment" button to display QR code. Scan the QR</u> code with your banking application to make a payment for tuition
		and fees.
		QR code payment can be made by no later than Tuesday 16
		March, 2021 until 11 p.m. only
		Keep your pay-in slip for proof of payment
		If students do not pay the tuition and fee within a given period
		(Wednesday, 10 – Tuesday, 16 March 2021, your student status
		at Mahidol University is subject to cancellation.
		o Tuition and fees paid to Mahidol University is not refundable
		for any reasons.
		o If you have any problems, please urgently contact Division of Academic Affairs by phone 02-8494562, 02-8494563, 02-8494565 and 02-8494567
	IMPORTANT NOTICE	The first semester course registration for all new students will be completed by university. So, new students do not register for courses in the first semester of the academic year 2021. BUT after the first
		semester, students have to self-register for classes via Mahidol
		University Course Registration System.
		https://smartedu.mahidol.ac.th
Wednesday, $10-16$	Checking status of tuition	Access the E- Student Profile System at
March 2021	fee payment	https://smartedu.mahidol.ac.th
		 Go to menu "Registration information" to check your status of tuition and fee payment
		If you have any problems, please urgently contact Division of
		Academic Affairs by no later than Tuesday, 16 March 2021.
Torondore 1 Irons		Phone 02-8494562, 02-8494563, 02-8494565 and 02-8494567
Tuesday, 1 June 2021 onwards	Student Loan Fund (กยศ and	 For Thai students only Thai students who would like to apply for Student Loan Funds
2021 Oliwards	กรอ) by Thai Government	(กับที or กรือ) granted by Thai Government, please read more
		information at https://op.mahidol.ac.th/sa/
		If you have any questions, please contact Division of Student Affairs, Mahidol University by phone: 02-8494656
Within Wednesday,	Submission of digital file of	Access the E- Student Profile System at
30 June 2021	student photograph for issuing a Mahidol University	https://smartedu.mahidol.ac.th, and go to menu "Document
	& Student I.D. card	Uploading System" Upload the digital file of student's photograph on blue
		background or scanned photograph in jpg format. Size of
		photograph file is 230 x 312 pixels or 150 kb. <u>Student's</u>
		photograph taken must wear formal Mahidol University
		uniform only and do not wear eyeglasses.
		Check the correct formal Mahidol University uniform at http://sim.sc.mahidol.ac.th/wp-content/uploads/2020/04/ed_twin.jpg
		The state of the s





Date	Activity	Details
		Students can purchase a navy blue necktie with the Mahidol University logo, leather/ suede belt with the Mahidol University logo, the Mahidol University brooch, navy blue bowtie with the Mahidol University logo at "The Harmony Shop". For more information, please visit at https://th-th.facebook.com/muharmony, phone: 02-8494500 ext. 4126, 4128 Upload a scanned National I.D. Card with certified true copy of the card in jpg format. Size of scanned file is 720 x 624 pixels and not exceed 2 MB After 7-day uploading, you have to check whether your uploaded files of photograph, scanned National I.D. card are accepted. If not, you must re-upload them. Thereby, you may often check the approval status of your uploading. If you have any problems with uploading documents, please contact Division of Academic Affairs by phone: 02-8494561, 02-8494573, 02-8494594
1st Round (Monday, 21 – Wednesday, 23 June 2021) 2nd Round (Monday, 12 – Wednesday, 14 July 2021)	Mahidol University Dormitory (Baan Mahidol) reservation	 For students who are interested to stay at Mahidol University dormitory, "Baan Mahidol", student can online reserve a room at http://www.student.mahidol.ac.th/newstudent/ or http://www.student.mahidol.ac.th/portal/ There are 2 rounds available for dormitory reservation as follows: 1st round: Monday, 21 June 2021 (9 a.m.) – Wednesday, 23 June 2021 (3 p.m.) 2nd round: Monday, 12 July 2021 (9 a.m.) – Wednesday, 14 July 2021 (3 p.m.) If you have any questions, please contact by phone: 02-4419116 or Hot Line 066-1045599
Within Friday, 30 July 2021	High school transcript/ qualification document submission, i.e. IGCSE/ GCSE/ GCE – O, AS, A level, NCEA, IBDP, other foreign high school diploma	The procedure of transcript/ qualification document submission is as follows: Scan your transcript/ qualification document with certified true copy of the original documents. Each page of transcript/ qualification document must be scanned into separate file in jpg format. File size of each scanned document should not exceed 2 MB or 800 x 1,132 pixels Go to https://smartedu.mahidol.ac.th and upload your scanned transcript/ qualification document into "Student Information" menu After 7-day uploading, you have to check whether your uploaded files are accepted. If not, you have to re-upload them. You may often check the approval status of your uploading. If you have any problems with uploading documents, please contact Division of Academic Affairs by phone: 02-8494561, 02-8494573, 02-2894594





Date	Activity	Details
To be announced	Application for SIM Preparatory Course 2021	Optional & recommended activity for SIM freshmen who are interested in developing and adjusting on their soft and hard skills, and English before beginning of the first semester of the first academic year 2021.
To be announced	SIM Preparatory Course 2021	 Course cost: 12,000THB Read more information on the SIM Preparatory Course at https://sim.sc.mahidol.ac.th/preparatory-course-program/
To be announced	MUSC Relationship Camp 2021	Recommended activity The MUSC Relationship Camp is an overnight camp, which is set for both international and regular program students hosted by the Faculty of Science Student Union.
July 2021	Collecting a Mahidol University's student ID card	 Check a schedule on collecting a Mahidol University's student ID card (smart card) from Mahidol University website "News & Announcement" http://www.student.mahidol.ac.th/newstudent
Saturday, 24 – Monday, 26 July 2021	Dormitory key pick up	 For Baan Mahidol dormitory residents only After the QR payment, please bring the payment receipt of your dormitory to collect your dormitory key at Mahidol University Dormitory Office in office hours (9 a.m. to 4 p.m.)
Saturday, 24 July 2021	Mahidol University English Language Test (MU-ELT)	Recommended activity for SIM freshmen who are interested in evaluating the English language skills. O Read more information on the ME-ELT at https://la.mahidol.ac.th/th/mu-elt-mahidol-university-english-language-test/
Thursday, 29 July 2021	Welcome activity for Baan Mahidol Dormitory residents	 For Baan Mahidol Dorm residents only, the dorm residents are scheduled to attend a welcome activity on Thursday, 29 July 2021 at 8.30 a.m.
Friday, 30 July 2021	Basic Fire Fighting Training and Emergency Evacuation	 For Baan Mahidol Dorm residents only The dorm residents are scheduled to train a basic fire-fighting and emergency evacuation on Friday, 30 July 2021 from 8.30 a.m. onwards.
Tuesday, 3 August 2021	1) HRH Prince Mahidol of Songkla Statue Worship Ceremony	Recommended activity Attend the HRH Prince Mahidol of Songkla Statue Worship Ceremony at Mahidol University Learning Center (MLC) Female freshmen are scheduled to queue up to walk to Mahidol University Learning Center (MLC) for attending of HRF Prince Mahidol of Songkla Statue Worship Ceremony at Baan Sritrang (Dorm#11) (บ้านศรีตรีง พอ 11), and at Na Ong Pra Road (ถนนหน้า
		องค์พระ) for male freshmen on Tuesday, 3 August 2021 at 6.30 a.m. • The dress code is "Formal Mahidol University uniform" http://sim.sc.mahidol.ac.th/wp-content/uploads/2020/04/ed_twin.jpg • Learn how to worship the HRH Prince Mahidol of Songkla Statue through "We Mahidol" Application, https://op.mahidol.ac.th/sa, and Facebook: กองกิจการนักศึกษา มหาวิทยาลัยมหิดล, MU Home





Date	Activity	Details
	2) Mahidol University Freshman Orientation 2021	Required activity o Freshmen are required to attend Mahidol University Freshman Orientation 2021 at Prince Mahidol Hall (หอประชุมมหิดลสิทธาคาร), Mahidol University, Salaya Campus o The dress code is "Formal Mahidol University uniform" https://science.mahidol.ac.th/sim/images/ed_twin.jpg Lean how to attend the Mahidol University Freshman Orientation 2021 through "We Mahidol" Application, https://op.mahidol.ac.th/sa, and Facebook: กองกิจการนักศึกษา มหาวิทยาลัยมหิดล, MU Home
Wednesday, 4 August 2021	SIM Freshman Orientation & Parents' Meeting 2021	Required activity SIM Freshmen and parents are invited to attend the SIM Freshman Orientation & Parents' Meeting 2021 at Faculty of Science, Mahidol University, Salaya campus. The agenda has not come out yet. We will notify you when the agenda is announced via e-mail, Line group and our website (https://sim.sc.mahidol.ac.th) Please stayed tuned for the update.
Monday, 9 August 2021	Mahidol University's classes begin	 The first semester classes of the International B.Sc. Programs, Faculty of Science, Mahidol University (SIM) will start from Monday, 9 August 2021 at Science Building 1 (SC1) and Science Building 2 (SC2), Faculty of Science, Mahidol University, Salaya Campus Check course timetables, academic calendar, and related information at https://sim.sc.mahidol.ac.th/current-students/
Contact information	International Education and A Division of Educational Affai Mahidol University, Salaya C E-mail: scsim@mahidol.ac.th Phone: 02 4419820 ext. 1199 http://sim.sc.mahidol.ac.th Line group https://line.me/R/t	rs, Faculty of Science ampus

Estimated tuition and university fees for THAI STUDENTS

International B.Sc. Programs at Faculty of Science, Mahidol University

Academic year 2021

BIOMEDICAL SCIENCE 2564/ PLAN A

		(1) Preparatory course*	(2) University			(3) Credit co	ost (TH	B)			(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year	Remark
			fee	Lec	Unit price	Amount	Lab	Unit price	Amount	Total		Grand total	(THB)	
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00		
FIRST	1st semester		10,200.00	17.00	2,000.00	34,000.00	3.00	2,500.00	7,500.00	41,500.00	35,000.00	86,700.00		
YEAR	2nd semester		6,150.00	21.00	2,000.00	42,000.00	0.00	2,500.00	0.00	42,000.00	35,000.00	· ·	169,850.00	
	Summer session	on	0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00	,	
SECOND														
YEAR	1st semester		7,750.00	16.00	2,000.00	32,000.00	3.00	2,500.00	7,500.00	39,500.00	35,000.00	82,250.00	167,400.00	
	2nd semester		6,150.00	17.00	2,000.00	34,000.00	4.00	2,500.00	10,000.00	44,000.00	35,000.00	85,150.00		
	Summer session	on	0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00		
THIRD														
YEAR	1st semester		7,750.00	14.00	2,000.00	28,000.00	2.00	2,500.00	5,000.00	33,000.00	35,000.00	75,750.00		
	2nd semester	Module A	6,150.00	16.00	2,000.00	32,000.00	1.00	2,500.00	2,500.00	34,500.00	35,000.00	75,650.00	151,400.00	Module A
		Module B	6,150.00	15.00	2,000.00	30,000.00	2.00	2,500.00	5,000.00	35,000.00	35,000.00	76,150.00	151,900.00	Module B
		Module C	6,150.00	14.00	2,000.00	28,000.00	3.00	2,500.00	7,500.00	35,500.00	35,000.00	· ·	152,400.00	Module C
		Module D	6,150.00	17.00	2,000.00	34,000.00	0.00	2,500.00	0.00	34,000.00	35,000.00	75,150.00	150,900.00	Module D
		Module E	6,150.00	17.00	2,000.00	34,000.00	0.00	2,500.00	0.00	34,000.00	35,000.00		150,900.00	Module E
		Module F	6,150.00	16.00	2,000.00	32,000.00	1.00	2,500.00	2,500.00	34,500.00	35,000.00	· ·	151,400.00	Module F
	Summer session	on	0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00		
FOURTH														
YEAR	1st semester	Module A	7,750.00	5.00	2,000.00	10,000.00	4.00	2,500.00	10,000.00	20,000.00	35,000.00	· ·	124,906.00	Module A
		Module B	7,750.00	5.00	2,000.00	10,000.00	4.00	2,500.00	10,000.00	20,000.00	35,001.00		124,907.00	Module B
		Module C	7,750.00	5.00	2,000.00	10,000.00	4.00	2,500.00	10,000.00	20,000.00	35,002.00	The second second	124,908.00	Module C
		Module D	7,750.00	3.00	2,000.00	6,000.00	6.00	2,500.00	15,000.00	21,000.00	35,003.00	· ·	125,909.00	Module D
		Module E	7,750.00	4.00	2,000.00	8,000.00	5.00	2,500.00	12,500.00	20,500.00	35,004.00		125,410.00	Module E
	2 1	Module F	7,750.00	4.00	2,000.00	8,000.00	5.00	2,500.00	12,500.00	20,500.00	35,005.00	The second second	125,411.00	Module F
	2nd semester		6,150.00	3.00	2,000.00	6,000.00	6.00	2,500.00	15,000.00	21,000.00	35,006.00			
	Summer session)II	0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00		

Estimated 4-year tuition fee Module A 613,556.00

Module B 614,057.00

Module C 614,558.00

Module D 614,059.00

Module E 613,560.00

Module F 614,061.00

BIORESOURCES & ENVIRONMENTAL BIOLOGY 2564/ PLAN A

		(1) Preparatory course*	(2) University			(3) Credit co	ost (THI	3)			(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year
			fee	Lec	Unit cost	Amount	Lab	Unit cost	Amount	Total		Grand total	(THB)
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00	12,000.00
FIRST YEAR	1st semester 2nd semester Summer session		10,200.00 6,150.00 0.00	18.00 21.00 0.00	2,000.00 2,000.00 2,000.00	36,000.00 42,000.00 0.00	4.00 1.00 0.00	2,500.00 2,500.00 2,500.00	10,000.00 2,500.00 0.00	46,000.00 44,500.00 0.00	35,000.00 35,000.00 0.00	85,650.00	176,850.00
SECOND													
YEAR	1st semester		7,750.00	17.00	2,000.00	34,000.00	5.00	2,500.00	12,500.00	46,500.00	35,000.00	89,250.00	172,400.00
	2nd semester		6,150.00	16.00	2,000.00	32,000.00	4.00	2,500.00	10,000.00	42,000.00	35,000.00	83,150.00	
	Summer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00	
THIRD													
YEAR	1st semester		7,750.00	12.00	2,000.00	24,000.00	2.00	2,500.00	5,000.00	29,000.00	35,000.00	71,750.00	
	2nd semester		6,150.00	5.00	2,000.00	10,000.00	4.00	2,500.00	10,000.00	20,000.00	35,000.00	61,150.00	132,900.00
	Summer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00	
FOURTH													
YEAR	1st semester		7,750.00	9.00	2,000.00	18,000.00	0.00	2,500.00	0.00	18,000.00	35,000.00	60,750.00	119,906.00
	2nd semester		6,150.00	9.00	2,000.00	18,000.00	0.00	2,500.00	0.00	18,000.00	35,006.00	59,156.00	
	Summer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00		0.00	

Estimated 4-year tuition fee 602,056.00

MATERIALS SCIENCE AND NANO ENGINEERING 2564/ PLAN A

	course*	_			(-)	ost (THI	5)			(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year
		fee	Lec	Unit cost	Amount	Lab	Unit cost	Amount	Total		Grand total	(THB)
	12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00	12,000.00
semester		10,200.00	19.00	2,000.00	38,000.00	3.00	2,500.00	7,500.00	45,500.00	35,000.00	90,700.00	
l semester nmer session		6,150.00 0.00	20.00 0.00	2,000.00 2,000.00	40,000.00 0.00	1.00 0.00	2,500.00 2,500.00	2,500.00 0.00	42,500.00 0.00	35,000.00 0.00	1	174,350.00
semester		7,750.00	17.00	2,000.00	34,000.00	1.00	2,500.00	2,500.00	36,500.00	35,000.00	79,250.00	165,400.00
l semester		6,150.00	20.00	2,000.00	40,000.00	2.00	2,500.00	5,000.00	45,000.00	35,000.00	86,150.00	
nmer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00	
semester		7,750.00	15.00	2,000.00	30,000.00	2.00	2,500.00	5,000.00	35,000.00	35,000.00	77,750.00	
l semester		6,150.00	13.00	2,000.00	26,000.00	2.00	2,500.00	5,000.00	31,000.00	35,000.00	72,150.00	149,900.00
nmer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00	
semester		7,750.00	0.00	2,000.00	0.00	9.00	2,500.00	22,500.00	22,500.00	35,000.00	65,250.00	128,906.00
l semester		6,150.00	0.00	2,000.00	0.00	9.00	2,500.00	22,500.00	22,500.00	35,006.00	63,656.00	
nmer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00	
s l m	semester mer session semester semester mer session semester mer session semester semester semester semester semester semester semester	semester	semester 6,150.00 mer session 0.00 semester 7,750.00 semester 6,150.00 mer session 0.00 semester 6,150.00 mer session 0.00 semester 7,750.00 semester 7,750.00 semester 6,150.00 semester 6,150.00	semester 6,150.00 20.00 nmer session 0.00 0.00 semester 7,750.00 17.00 semester 6,150.00 20.00 nmer session 0.00 0.00 semester 6,150.00 13.00 nmer session 0.00 0.00 semester 7,750.00 0.00 semester 7,750.00 0.00 semester 6,150.00 0.00	semester 6,150.00 20.00 2,000.00 nmer session 0.00 0.00 2,000.00 semester 7,750.00 17.00 2,000.00 semester 6,150.00 20.00 2,000.00 nmer session 0.00 0.00 2,000.00 semester 6,150.00 13.00 2,000.00 nmer session 0.00 0.00 2,000.00 semester 7,750.00 0.00 2,000.00 semester 7,750.00 0.00 2,000.00 semester 6,150.00 0.00 2,000.00	semester 6,150.00 20.00 2,000.00 40,000.00 nmer session 0.00 0.00 2,000.00 0.00 semester 7,750.00 17.00 2,000.00 34,000.00 semester 6,150.00 20.00 2,000.00 40,000.00 nmer session 0.00 2,000.00 30,000.00 semester 6,150.00 13.00 2,000.00 26,000.00 nmer session 0.00 0.00 2,000.00 0.00 semester 7,750.00 0.00 2,000.00 0.00 semester 7,750.00 0.00 2,000.00 0.00 semester 6,150.00 0.00 2,000.00 0.00	semester 6,150.00 20.00 2,000.00 40,000.00 1.00 nmer session 0.00 0.00 2,000.00 0.00 0.00 semester 7,750.00 17.00 2,000.00 34,000.00 1.00 semester 6,150.00 20.00 2,000.00 40,000.00 2.00 nmer session 0.00 0.00 2,000.00 30,000.00 2.00 semester 6,150.00 13.00 2,000.00 26,000.00 2.00 nmer session 0.00 0.00 2,000.00 0.00 9.00 semester 7,750.00 0.00 2,000.00 0.00 9.00 semester 7,750.00 0.00 2,000.00 0.00 9.00	semester 6,150.00 20.00 2,000.00 40,000.00 1.00 2,500.00 nmer session 0.00 0.00 2,000.00 40,000.00 1.00 2,500.00 semester 7,750.00 17.00 2,000.00 34,000.00 1.00 2,500.00 semester 6,150.00 20.00 2,000.00 40,000.00 2.00 2,500.00 semester 7,750.00 15.00 2,000.00 30,000.00 2.00 2,500.00 semester 6,150.00 13.00 2,000.00 26,000.00 2.00 2,500.00 semester 7,750.00 0.00 2,000.00 0.00 2,500.00 semester 6,150.00 0.00 2,000.00 0.00 9.00 2,500.00 semester 7,750.00 0.00 2,000.00 0.00 9.00 2,500.00	semester 6,150.00 20.00 2,000.00 40,000.00 1.00 2,500.00 2,500.00 nmer session 0.00 0.00 2,000.00 0.00 0.00 2,500.00 2,500.00 semester 7,750.00 17.00 2,000.00 34,000.00 1.00 2,500.00 2,500.00 semester 6,150.00 20.00 2,000.00 40,000.00 2.00 2,500.00 5,000.00 semester 7,750.00 15.00 2,000.00 30,000.00 2.00 2,500.00 5,000.00 semester 6,150.00 13.00 2,000.00 26,000.00 2.00 2,500.00 5,000.00 semester 7,750.00 0.00 2,000.00 0.00 9.00 2,500.00 22,500.00 semester 7,750.00 0.00 2,000.00 0.00 9.00 2,500.00 22,500.00 semester 6,150.00 0.00 2,000.00 0.00 9.00 2,500.00 22,500.00	semester 6,150.00 20.00 2,000.00 40,000.00 1.00 2,500.00 2,500.00 42,500.00 nmer session 0.00 2,000.00 0.00 0.00 2,500.00 2,500.00 42,500.00 semester 7,750.00 17.00 2,000.00 34,000.00 1.00 2,500.00 2,500.00 36,500.00 semester 6,150.00 20.00 2,000.00 40,000.00 2.00 2,500.00 5,000.00 45,000.00 nmer session 0.00 2,000.00 30,000.00 2.00 2,500.00 5,000.00 35,000.00 semester 6,150.00 13.00 2,000.00 26,000.00 2.00 2,500.00 5,000.00 31,000.00 nmer session 0.00 2,000.00 0.00 2,500.00 2,500.00 22,500.00 32,000.00 semester 7,750.00 0.00 2,000.00 0.00 2,500.00 22,500.00 22,500.00 22,500.00 22,500.00 22,500.00 22,500.00 22,500.00 22,500.00 <	semester 6,150.00 20.00 2,000.00 40,000.00 1.00 2,500.00 2,500.00 42,500.00 35,000.00 nmer session 0.00 0.00 2,000.00 0.00 0.00 2,500.00 2,500.00 42,500.00 35,000.00 semester 7,750.00 17.00 2,000.00 34,000.00 1.00 2,500.00 2,500.00 36,500.00 35,000.00 semester 6,150.00 20.00 2,000.00 40,000.00 2.00 2,500.00 5,000.00 45,000.00 35,000.00 35,000.00 semester 7,750.00 15.00 2,000.00 30,000.00 2.00 2,500.00 5,000.00 35,000.00 35,000.00 semester 6,150.00 13.00 2,000.00 26,000.00 2.00 2,500.00 5,000.00 31,000.00 35,000.00 semester 7,750.00 0.00 2,000.00 0.00 2,500.00 22,500.00 22,500.00 35,000.00 semester 7,750.00 0.00 2,000.00 0.00	semester 6,150.00 20.00 2,000.00 40,000.00 1.00 2,500.00 2,500.00 42,500.00 35,000.00 83,650.00 nmer session 0.00 0.00 2,000.00 0.00 2,500.00 2,500.00 42,500.00 35,000.00 83,650.00 semester 7,750.00 17.00 2,000.00 34,000.00 1.00 2,500.00 2,500.00 36,500.00 35,000.00 79,250.00 semester 6,150.00 20.00 2,000.00 40,000.00 2.00 2,500.00 5,000.00 45,000.00 35,000.00 86,150.00 nmer session 0.00 2,000.00 30,000.00 2,500.00 5,000.00 35,000.00 35,000.00 77,750.00 semester 7,750.00 15.00 2,000.00 30,000.00 2,500.00 5,000.00 35,000.00 35,000.00 77,750.00 semester 6,150.00 13.00 2,000.00 2,000.00 2,500.00 5,000.00 31,000.00 35,000.00 72,150.00 semester 7

Estimated 4-year tuition fee 618,556.00

BIOINNOVATION 2564/ PLAN A

		(1) Preparatory	(2) University			(3) Credit co	ost (THI	3)			(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year	Remark
		course*	fee	Lec	Unit cost	Amount	Lab	Unit cost	Amount	Total		Grand total	(THB)	
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00		
FIRST	1st semester		10,200.00	19.00	2,000.00	38,000.00	3.00	2,500.00	7,500.00	45,500.00	35,000.00	· ·		
YEAR	2nd semester Summer session		6,150.00 0.00	21.00 0.00	2,000.00 2,000.00	42,000.00 0.00	1.00 0.00	2,500.00 2,500.00	2,500.00 0.00	44,500.00 0.00	35,000.00 0.00		176,350.00	
SECOND														
YEAR	1st semester		7,750.00	19.00	2,000.00	38,000.00	3.00	2,500.00	7,500.00	45,500.00	35,000.00	88,250.00	181,900.00	
	2nd semester		6,150.00	20.00	2,000.00	40,000.00	2.00	2,500.00	5,000.00	45,000.00	35,000.00	86,150.00		
	Summer session		0.00	0.00	2,000.00	0.00	3.00	2,500.00	7,500.00	7,500.00	0.00	7,500.00		
THIRD														
YEAR	1st semester		7,750.00	16.00	2,000.00	32,000.00	1.00	2,500.00	2,500.00	34,500.00	35,000.00	77,250.00		
	2nd semester		6,150.00	12.00	2,000.00	24,000.00	4.00	2,500.00	10,000.00	34,000.00	35,000.00	75,150.00	152,400.00	
	Summer session		0.00	0.00	2,000.00	0.00	3.00	2,500.00	7,500.00	7,500.00	0.00	7,500.00		
FOURTH														
YEAR	1st semester		7,750.00	0.00	2,000.00	0.00	4.00	2,500.00	10,000.00	10,000.00	35,000.00	52,750.00	99,906.00	
	2nd semester		6,150.00	3.00	2,000.00	6,000.00	0.00	2,500.00	0.00	6,000.00	35,006.00	47,156.00		
	Summer session		0.00	0.00	2,000.00	0.00	0.00	2,500.00	0.00	0.00	0.00	0.00		

Estimated 4-year tuition fee 610,556.00

Estimated tuition and university fees for NON - THAI STUDENTS

International B.Sc. Programs at Faculty of Science, Mahidol University

Academic year 2021

BIOMEDICAL SCIENCE 2564/ PLAN A

		(1) Preparatory course*	(2) University			(3) Credit co	ost (TH	B)			(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year	Remark
		204250	fee	Lec	Unit price	Amount	Lab	Unit price	Amount	Total		Grand total	(THB)	
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00		
FIRST	1st semester		13,700.00	17.00	4,000.00	68,000.00	3.00	5,000.00	15,000.00	83,000.00	35,000.00	· · · · · · · · · · · · · · · · · · ·		
YEAR	2nd semester		6,150.00	21.00	4,000.00	84,000.00	0.00	5,000.00	0.00	84,000.00	35,000.00	125,150.00	256,850.00	
	Summer session	n	0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00		
SECOND														
YEAR	1st semester		1,125.00	16.00	4,000.00	64,000.00	3.00	5,000.00	15,000.00	79,000.00	35,000.00	115,125.00	244,275.00	
	2nd semester		6,150.00	17.00	4,000.00	68,000.00	4.00	5,000.00	20,000.00	88,000.00	35,000.00	129,150.00		
	Summer session	n	0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00		
THIRD														
YEAR	1st semester		11,250.00	14.00	4,000.00	56,000.00	2.00	5,000.00	10,000.00	66,000.00	35,000.00	112,250.00		
	2nd semester	Module A	6,150.00	16.00	4,000.00	64,000.00	1.00	5,000.00	5,000.00	69,000.00	35,000.00	110,150.00	222,400.00	Module A
		Module B	6,150.00	15.00	4,000.00	60,000.00	2.00	5,000.00	10,000.00	70,000.00	35,000.00	111,150.00	223,400.00	Module B
		Module C	6,150.00	14.00	4,000.00	56,000.00	3.00	5,000.00	15,000.00	71,000.00	35,000.00	112,150.00	224,400.00	Module C
		Module D	6,150.00	17.00	4,000.00	68,000.00	0.00	5,000.00	0.00	68,000.00	35,000.00	109,150.00	221,400.00	Module D
		Module E	6,150.00	17.00	4,000.00	68,000.00	0.00	5,000.00	0.00	68,000.00	35,000.00	109,150.00	221,400.00	Module E
		Module F	6,150.00	16.00	4,000.00	64,000.00	1.00	5,000.00	5,000.00	69,000.00	35,000.00	110,150.00	222,400.00	Module F
	Summer session	n	0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00		
FOURTH														
YEAR	1st semester	Module A	11,250.00	5.00	4,000.00	20,000.00	4.00	5,000.00	20,000.00	40,000.00	35,000.00	86,250.00	169,406.00	Module A
		Module B	11,250.00	5.00	4,000.00	20,000.00	4.00	5,000.00	20,000.00	40,000.00	35,001.00	86,251.00	169,407.00	Module B
		Module C	11,250.00	5.00	4,000.00	20,000.00	4.00	5,000.00	20,000.00	40,000.00	35,002.00	· · · · · · · · · · · · · · · · · · ·	169,408.00	Module C
		Module D	11,250.00	3.00	4,000.00	12,000.00	6.00	5,000.00	30,000.00	42,000.00	35,003.00	The second second	171,409.00	Module D
		Module E	11,250.00	4.00	4,000.00	16,000.00	5.00	5,000.00	25,000.00	41,000.00	35,004.00	The second second	170,410.00	Module E
		Module F	11,250.00	4.00	4,000.00	16,000.00	5.00	5,000.00	25,000.00	41,000.00	35,005.00	1	170,411.00	Module F
	2nd semester		6,150.00	3.00	4,000.00	12,000.00	6.00	5,000.00	30,000.00	42,000.00	35,006.00	· · · · · · · · · · · · · · · · · · ·	,	
	Summer session	n	0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	,		

Estimated 4-year tuition fee Module A 892,931.00
Module B 893,932.00
Module C 894,933.00
Module D 893,934.00
Module E 892,935.00
Module F 893,936.00

BIORESOURCES & ENVIRONMENTAL BIOLOGY 2564/ PLAN A

		(1) Preparatory course*	(2) University	(3) Credit cost (THB)						(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year	
			fee	Lec	Unit cost	Amount	Lab	Unit cost	Amount	Total		Grand total	(THB)
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00	12,000.00
FIRST YEAR	1st semester 2nd semester Summer session		13,700.00 6,150.00 0.00	18.00 21.00 0.00	4,000.00 4,000.00 4,000.00	72,000.00 84,000.00 0.00	4.00 1.00 0.00	5,000.00 5,000.00 5,000.00	20,000.00 5,000.00 0.00	92,000.00 89,000.00 0.00	35,000.00 35,000.00 0.00	130,150.00	270,850.00
SECOND YEAR	1st semester 2nd semester Summer session		11,250.00 6,150.00 0.00	17.00 16.00 0.00	4,000.00 4,000.00 4,000.00	68,000.00 64,000.00 0.00	5.00 4.00 0.00	5,000.00 5,000.00 5,000.00	25,000.00 20,000.00 0.00	93,000.00 84,000.00 0.00	35,000.00 35,000.00 0.00	125,150.00	
THIRD YEAR	1st semester 2nd semester Summer session		11,250.00 6,150.00 0.00	12.00 5.00 0.00	4,000.00 4,000.00 4,000.00	48,000.00 20,000.00 0.00	2.00 4.00 0.00	5,000.00 5,000.00 5,000.00	10,000.00 20,000.00 0.00	58,000.00 40,000.00 0.00	35,000.00 35,000.00 0.00	81,150.00	185,400.00
FOURTH YEAR	1st semester 2nd semester Summer session		11,250.00 6,150.00 0.00	9.00 9.00 0.00	4,000.00 4,000.00 4,000.00	36,000.00 36,000.00 0.00	0.00 0.00 0.00	5,000.00 5,000.00 5,000.00	0.00 0.00 0.00	36,000.00 36,000.00 0.00	35,000.00 35,006.00	· ·	159,406.00

Estimated 4-year tuition fee 880,056.00

Estimated tuition and university fees at International Program, Faculty of Sciene, Mahidol University (SIM) for NON-THAI STUDENTS MATERIALS SCIENCE AND NANO ENGINEERING 2564/ PLAN A

		(1) Preparatory	(2) University			(3) Credit c	ost (THI	3)			(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year
		course*	fee	Lec	Unit cost	Amount	Lab	Unit cost	Amount	Total		Grand total	(THB)
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00	12,000.00
FIRST	1st semester		13,700.00	19.00	4,000.00	76,000.00	3.00	5,000.00	15,000.00	91,000.00	35,000.00	139,700.00	
YEAR	2nd semester Summer session		6,150.00 0.00	20.00 0.00	4,000.00 4,000.00	80,000.00 0.00	1.00 0.00	5,000.00 5,000.00	5,000.00	85,000.00 0.00	35,000.00 0.00	126,150.00 0.00	265,850.00
SECOND													
YEAR	1st semester		11,250.00	17.00	4,000.00	68,000.00	1.00	5,000.00	5,000.00	73,000.00	35,000.00	119,250.00	250,400.00
	2nd semester		6,150.00	20.00	4,000.00	80,000.00	2.00	5,000.00	10,000.00	90,000.00	35,000.00	131,150.00	
	Summer session		0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00	
THIRD													
YEAR	1st semester		11,250.00	15.00	4,000.00	60,000.00	2.00	5,000.00	10,000.00	70,000.00	35,000.00	116,250.00	
	2nd semester		6,150.00	13.00	4,000.00	52,000.00	2.00	5,000.00	10,000.00	62,000.00	35,000.00	103,150.00	219,400.00
	Summer session		0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00	
FOURTH													
YEAR	1st semester		11,250.00	0.00	4,000.00	0.00	9.00	5,000.00	45,000.00	45,000.00	35,000.00	91,250.00	177,406.00
	2nd semester		6,150.00	0.00	4,000.00	0.00	9.00	5,000.00	45,000.00	45,000.00	35,006.00	86,156.00	
	Summer session		0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00	

Estimated 4-year tuition fee 913,056.00

Estimated tuition and university fees at International Program, Faculty of Sciene, Mahidol University (SIM) for NON - THAI STUDENTS BIOINNOVATION 2564/ PLAN A

		(1) Preparatory	(2) University fee	(3) Credit cost (THB)							(4) Education supporting fee	(1)+(2)+(3)+(4)	Tuition fee per year
		course*		Lec	Unit cost	Amount	Lab	Unit cost	Amount	Total		Grand total	(THB)
PRE- COLLEGE		12,000.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	12,000.00	
FIRST	1st semester		13,700.00	19.00	4,000.00	76,000.00	3.00	5,000.00	15,000.00	91,000.00	35,000.00	1	
YEAR	2nd semester Summer session		6,150.00 0.00	21.00 0.00	4,000.00 4,000.00	84,000.00 0.00	1.00 0.00	5,000.00 5,000.00	5,000.00	89,000.00 0.00	35,000.00 0.00		
SECOND													
YEAR	1st semester		11,250.00	19.00	4,000.00	76,000.00	3.00	5,000.00	15,000.00	91,000.00	35,000.00	137,250.00	283,400.00
	2nd semester		6,150.00	20.00	4,000.00	80,000.00	2.00	5,000.00	10,000.00	90,000.00	35,000.00	131,150.00	
	Summer session		0.00	0.00	4,000.00	0.00	3.00	5,000.00	15,000.00	15,000.00	0.00	15,000.00	
THIRD													
YEAR	1st semester		11,250.00	16.00	4,000.00	64,000.00	1.00	5,000.00	5,000.00	69,000.00	35,000.00	115,250.00	
	2nd semester		6,150.00	12.00	4,000.00	48,000.00	4.00	5,000.00	20,000.00	68,000.00	35,000.00	109,150.00	224,400.00
	Summer session		0.00	0.00	4,000.00	0.00	3.00	5,000.00	15,000.00	15,000.00	0.00	15,000.00	
FOURTH													
YEAR	1st semester		11,250.00	0.00	4,000.00	0.00	4.00	5,000.00	20,000.00	20,000.00	35,000.00	66,250.00	119,406.00
	2nd semester		6,150.00	3.00	4,000.00	12,000.00	0.00	5,000.00	0.00	12,000.00	35,006.00	53,156.00	
	Summer session		0.00	0.00	4,000.00	0.00	0.00	5,000.00	0.00	0.00	0.00	0.00	

Estimated 4-year tuition fee 897,056.00